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Chapter - 6

Life Processes

Q. 1 While eating you are advised not to talk. Why are you advised so?          1 Mark                                                                                                               
  Ans. We are advised so because while eating some food particles might enter the wind pipe which can lead to choking.

Q. 2 We say that movement is a characteristic of living organisms but we always don’t  see visible movements in plants. Comment. 

    


      1 Mark

Ans. We always don’t see visible movements in plants. It does not mean that they are not alive. Molecular movements take place in their body.
Q. 3 If a person is working on a treadmill in a gymnasium, will it effect his rate of breathing? How?



       
                


    2 Marks
Ans. Yes, it will affect his rate of breathing. The rate of breathing will become fast to supply more oxygen to meet the increased demand of energy.

Q. 4 If you compare your rate of breathing by feeling your chest movement with the number of times a fish opens and closes its mouth. Which will be higher and why?


               





              2 Marks

Ans. The number of times a fish opens and closes its mouth will be higher as the amount of dissolved oxygen in water is fairly low compared 
to the 
amount of oxygen in the air. Therefore, rate of breathing in aquatic organisms is much faster than in terrestrial organisms.

Q. 5 Mucus is not used for churning the food or digesting it. Then why is it 
secreted in the stomach?





    
    2 Marks

Ans. Mucus is secreted in the stomach to protect its inner lining from being damaged by HCl. Excessive secretion of HCl can damage the lining and lead to peptic ulcer. 

Q. 6 In the process of Photosynthesis food A is prepared which gets converted into food B. What are A and B? Why is A converted to B?   
                          2 Marks

Ans. Food A is glucose and food B is Starch.

A is converted to B as B is insoluble form of carbohydrate. It is more compact and hence, suitable for storage.

Q. 7 When we are asleep we are not performing any activity still our life processes are going on. Why?
  



    


              2 Marks

Ans. “The maintenance functions of living organisms must go on even when they are not doing anything particular.” That is why the life processes are going on even while we are asleep or not performing any activity.

Q. 8 Leaves of a healthy potted plant were coated with petroleum jelly. How will it affect the plant? State two reasons.
           



      3 Marks

Ans. The plant will not remain healthy for long due to the following 
reasons:-

1. There will be no transpiration.

2. There will be no exchange of gases which will affect the rate of photosynthesis.

Chapter - 7

Control And Co-ordination
Q. 1 A person suffered a head injury, due to which he faces breathing problem. No problem was detected with his respiratory system. What could be the cause of this problem?
            
      




                1 Mark

Ans. As the problem is caused due to head injury, it could be related to “Pons” a part of  Hind brain responsible for regulation of respiration.

Q. 2 A man becomes unconscious due to head injury. A pin is pricked on his foot, he  withdraws his foot. Why? Explain.

                                              3 Marks

Ans. It is reflex action. Stimulus is perceived by receptor (skin). Sensory nerve sends the sensation from receptor to the spinal cord. Then spinal cord sends the message through motor nerves to the effectors. Effectors i.e. muscles help in withdrawing his foot.

Q. 3 In a family of normal sized members, there are two exceptions, one member is dwarf and one is tall like “Khali”. What could be the cause of it? 
      2 Marks

Ans. In case of dwarfs, there is a deficiency of growth hormone from 
Pituitary gland and in case of giants excess of growth hormone is 
produced during childhood.

Q.4 Why do you blink your eyes as bright light is focused on you?  
      1 Mark
Ans. We blink in order to protect the eye from bright light which otherwise would  damage the retina.

Q. 5 There is a potted plant in your drawing room, after few days you note that plant has bent to one side. What could be the reason? How has this movement been co- coordinated?  


      




               1 Mark

Ans. The plant has bent to one side due to phototropic movement of the stem. This movement is due to unequal growth of the stem on both sides. This growth is initiated by the hormone auxin.

Q. 6 A leaf shaped gland is present above the intestine. The secretion of 
this gland regulates the metabolism of sugar in blood. Name the 
secretion and gland.





      




               1 Mark
Ans The name of the gland is pancreas. The secretion is Insulin from  special cells in it.

Chapter - 8

How Do Organisms Reproduce
Q. 1 A couple wants to space the birth of their second child. Suggest one preventive method which could be observed 


     


      1 Mark


(a) By the husband
(b) By the wife for the same.







                    

Ans. (a) Use of condoms by the husband 

        (b) Use of oral pills or loop or Copper-T by the wife.

Q. 2 A girl attains her puberty at the age of 11 years and a boy at 13 years but, still they are asked to refrain from sex, why?

    


     2 Marks

Ans.  They are asked to refrain from sex because:-

1. They are not physically, emotionally mature enough to be able to bear the   responsibility of the child.

2. They may suffer from reproductive tract infections.

Q.3 A pregnant woman visits a doctor to determine the sex of her child.   The doctor refused to perform the test. Why is she being denied?                              2 Marks






    

Ans. The doctor refused to perform the test in order to prevent 
female foeticide which leads to an alarming decline in child sex ratio.

Q. 4  Blue prints of body design are stored in the DNA. Why?         
      3 Marks
Ans. The chromosomes present in the nucleus of a cell contain information for inheritance of features from parents to next generation in the form of DNA molecule. The DNA is the information source for making proteins. Thus, blueprints of the body design are stored in the DNA.

Q. 5 Producing individuals by parents consume a lot of energy. 
So, why should an individual organism waste energy in the process, it does not need to stay alive?


                                   




     3 Marks

Ans. Reproduction, unlike other life processes is not essential to maintain 
the life of an individual organism. But it is essential for providing 
stability to the population of species.


Maintaining the species is essential for maintaining balance in nature.

Q. 6 Protozoan reproduce by binary fission as well as by multiple fission. In your opinion which process is better and why?

                                     2 Marks

Ans. Multiple fission is better than binary fission because:-

1. More number of individuals is produced.

2. It helps to tide over unfavourable conditions.

Chapter - 9

Heredity And Evolution
Q. 1 Clones of sheep are carbon copy of each other except physical health. What kind of variation is it?




      



      1 Mark

Ans    Phenotypic variation

Q. 2 What will be the sex of a baby if sperm carrying X chromosome 
fertilizes egg in human beings. Why?



    


                2 Marks

Ans. It will be a baby girl because fusion of gametes having X chromosomes leads to homozygous condition producing zygote  with XX composition.

Q. 3 Feather imprints were preserved along the dinosaur’s bones but dinosaurs could not fly. What was the significance of feathers in reptiles and later on for other species?
   






                         2 Marks

Ans. It is believed that feathers in dinosaurs might have provided insulation in cold weather but later on became useful for flights in birds.

Q. 4 Wild cabbage was converted into number of variants like cauliflower, broccoli and cabbage by man. What is this process known as? 
Does it play an important role in organic evolution?




                         3 Marks

Ans. This process is known as artificial selection. It plays an important role 
in organic evolution because it is parallel to natural selection. It helps to produce new species having useful traits in less time.

 Q. 5 How are variant genotypes produced?



             3 Marks
Ans. Variant genotypes can be produced by:-

1. Mutation in genes and chromosomes.

2. Recombination of genes.

3. Hybridization of genes.

Q. 6 Can geographical isolation lead to speciation? How?

    
  2 Marks
Ans. Yes, geographical isolation can lead to speciation. Due to 
geographical isolation, the members of two sub groups may 
not be able to interbreed as a result of genetic drift. Natural selection 
also operates differently in these subgroups. This leads to speciation.

Q. 7 What will be the blood groups of offspring’s produced by the parents having following genotype?




    

             2 Marks


Male
- IAIB
 
Female -IOIA
	↓GAMETES→
	IO
	IA

	IA
	IAIO  (i)
	IAIA (ii)

	IB
	IBIO  (iii)
	IAIB  (iv)


Ans. 

     Blood groups will be:

(i) A

(ii) A

(iii) B

(iv) AB

Q. 8 A woman with blonde curly hair married a man with black soft hair.  All of their children in first generation had black soft hair but in next generation children had different combinations in the ratio of 9:3:3:1. State the law that governs this expression.







                             2 Marks

Ans. Law of independent assortment which states that the factors of different pairs of contrasting characters do not influence each other. They are independent of one another in their assortment.

Chapter - 10

Light: Reflection & Refraction
(1 Mark Questions)

Q 1.How does image changes when the face is slowly moved away from inner face of a shining spoon?

Ans. As the face is moved away than after a particular time image becomes inverted.
Q.2. Due to which property of light, sharp shadow of an object is obtained?

Ans.  straight line property of the light.

Q.3. Identify the type of lens or mirror placed at XY where O is object and I is image.


[image: image1]
Ans Convex lens (when object is placed between pole and focus)




Q.4.What type of lens must be  placed at XY so that image I shifts to I’ 1 SHAPE  \* MERGEFORMAT 



Ans. concave lens

Q.5. A ray AFB is  incident on a spherical mirror whose centre of curvature is 2 F. In which direction will it reflect?

Ans It will reflect towards the object side parallel to principal axis.

Q 6. A ray of light is incident at angle of 350  to a plane surface. What will the angle of reflection? 

Ans. 550

Q 7. A fish under water is viewing obliquely a fisherman standing on the bank of lake. Does the man look taller or shorter? 

  Ans. As  light travels from rarer to denser medium, it bends towards normal and appears   to come from greater height.. Therefore to fish under water man looks taller.

(Two marks Questions)

Q 1. An Object is placed 15 cm in front of a lens ‘A’ and lens gives real, inverted , magnified image and formed at large distance. Lens ‘A’ is replaced by Lens ‘B’  and a real, inverted image of the same size as of object is formed.

i) What is the  nature of Lens A&B?

ii) What is the focal length of A&B? 

Ans  i) A=Convex lens ,B=Convex Lens 

  ii) fA=15cm, fB=7.5cm

Q 2 Two lenses 1&2 are placed in contact .Focal length of lens 1 is 20 cm and of 2 is -10 cm. Calculate

i) Total Power of combination

ii)  What is the nature of combination..

Ans  (i) P=  -5 D ,(ii)Concave Lens

Q 3. For the same angle of incidence the angle of refraction in three different media A, B and C  are 300 , 450 and 600 respectively. In which medium will the velocity of light be minimum?

Ans)   µA=sin i/sin 30 , µB=sin i/sin45, µC=sin i/sin 60

          µA  >µB >µC , µ=c/v as µA= max.  ,vA=min.

Q 4.You are given three lenses.

       i) a concave lens of focal length 25 cm.

      ii) a convex lens of focal length  ¼ m and 

      iii) a convex lens of focal length 100 cm.

      Which combination out of these three lenses will form a lens of zero power? 

Ans ) Combination of concave lens of focal length of 25 cm and a convex lens of focal   length of 1/4m

(Three Marks Questions)

[image: image3.jpg]



Q1.A  rod of length 10 cm lies along the principal axis of a concave mirror of f= 10 cm in such a way that the end closer to the pole is 20cm away from it. Find the length of image?

Ans. R =2f=20cm. Thus the nearer end B of the rod AB is at C and hence its image will  be formed at B itself

For end A u = -30 cm, f = -10 cm, v = -15cm

Length of image will be at 5 cm

Q 2. Absolute refractive Index of some of material is tabulated below

	Material
	Rock salt
	Kerosene 
	Water 
	 diamond

	Refractive index
	1.54
	1.44
	1.33
	2.42


i) In which of these does light travel fastest and why?



2

ii) arrange these materials in ascending order of their optical densities.            1


Ans i)   Water     due to least refractive index.

       ii) Water ,Kerosene, Rock salt ,diamond

Q 3. A object is placed  on the axis of a convex lens. Draw the neat ray diagrams for formation of image when

i) Object is placed at a distance more than double of its focal length.

ii) The object is at a distance equal to double of its focal length and

iii)The object is at a distance more than focal length but less than double of its focal length.

Ans  NCERT Book Pg. 180-181
Chapter - 11

Human Eye And Colourful World

(1 Mark Questions)

Q-1 What would have been the colour of the sky if there had  not been any atmosphere around the earth?

Ans-black.

Q-2  For dispersion of light through a prism which colour has maximum deviation?

Ans- violet

(2 Marks Questions)
Q-1 A person wears eye glass of focal length 70 cm what is the far point of the person?

Ans-1/f=1/v-1/u

        v=?

        f=-70cm

         u=-∞

         1/-70=1/v-1/-∞

         1/v=1/-70              v=-70cm.

Q-2 If your eye glasses have focal length 60cm what is your near point?

Ans-1/f=1/v-1/u

        1/60=1/v+1/25

                v=-43cm.

Q-3 Why do we observe random wavering or flicking of the objects near a fire or on a very hot day?

 Ans-Area above the fire is hot, and its density and hence refractive index changes frequently, therefore apparent image of the object also changes.  


Q-4 Why are we not able to see the things clearly when we come out of a darkroom?

Ans-When we are in dark, pupil size is bigger. As we come out of dark room,its size needs to become smaller. For that time-interval person is unable to see.
(3 Marks Question)
Q-1 A certain person has minimum distance of distinct vision of 150cm . He wishes to read at a distance of 25cm. What focal length glass should he use? What is the nature of eye defect?

Ans-U=-25cm V=-150cm.

           1/f=1/V-1/U

            1/f=1/(-150)  -   1/(-25)

                f=30cm.

     f being +ve, lense used is convex lens.  

    Hypermetropic
Chapter - 12

Electricity

(1 Mark Questions)

Q-1  In the given figure what is the ratio of current in A1,and A2

[image: image4]
Ans-V=IR            V=const.

        I ∞ 1/R                 I1/I2 = R/2R              I1/I2 = 1/ 2

Q-2  A wire of resistance R is bent in form of a closed circle, what is the resistance

     across a diameter of the circle?

Ans-1/R’ =1/(R/2)+1/(R/2)            R’=R/4.

Q-3  A charge of 6 C is moved between two points P and Q having , potential 10V and 5V respectively. Find the amount of work done.

Ans-W=q(V2-V1)=6(10-5)=30 joule

Q-4  Name the physical quantity whose SI unit is JC-1.
Ans-Potential

(2 Marks Questions)

Q-1  Two wires of equal cross sectional area , one of copper and other of manganin have same resistance. Which one will be longer?

Ans-R=ρL/A   (R,A=const .L=1/ρ)

          ρ manganin > ρ copper
          L copper>L manganin      

Q-2  A Rectangular block of iron has dimensions L X L X b. What is the resistance of the block measured between the two square ends ? Given ρ= resistivity.

Ans-R=ρ b/L2
Q-3  Three equal resistances are connected in series then in parallel. What will be the ratio of  their Resistances?

Ans-Rseries =3R.

        Rparallel =R/3

        Rseries / Rparallel =3R/(R/3)=9

Q-4  Jusitfy for any pair of resistance the equivalent resistance  in series is greater equivalent resistance in parallel .


[image: image5]
 Ans- Since, R=V/I

         RA>RB

                      A=Series,B=Parallel

Q-5  How many bulbs of 8Ώ  should be joined in parallel to draw a current of 2A from a battery of 4 V?

Ans-R=V/I=4/2=2 Ώ, let ‘n’ be the no of bulbs.

        1/R=1/R1  + 1/R2 +……..1/Rn =n/8

         ½=n/8, n=4.         
Q-6  Two cubes A and B are of the same material. The side of B is thrice as that of A. Find the ratio RA/RB.

Ans-RA =  ρL/A        RB=ρ3L/9A 
      RA : RB =3:1                                                 
Q-7  3 X 1011 electrons are flowing through the filament of bulb for two minutes. Find the current flowing through the circuit. Charge on one electron=1.6X10-19 C.

Ans-q=ne=3x1011x1.6x10-19=4.8x108C

        I=q/t=4.8x108/(2x60)=4x107A

Q-8  A nichrome wire of resistivity 100X10-6ohm- m and copper wire of resistivity 1.62X10-8  ohm-m of same length and same area of cross section are connected in series , current is passed through them, why does the nichrome wire gets heated first? 

Ans. Q=I2 Rt

       Q= I2 { ρ L/A}t

Nichrome wire has higher resistivity than copper wire . Therefore, it is heated first                                                           

(3 Marks Questions)

 Q1  In the given figure what is ratio of ammeter reading when J is connected to A and then to B

 
[image: image6]
Ans. when J is connected to A 

         I=V/R=3/5A=O.6A

         When J is connected to B 

         V=1+2+3+4=10V

         I=10/5=2A                                                                         
Chapter - 13

Magnetic Effects Of Electric Current

(One Mark Question)

Q.1 Why does the bulk of iron fillings stick to the ends of a bar magnet and not at its centre? 

Ans. Because at the ends magnetic strength is maximum and at centres magnetic strength is least.

Q.2 If the frequency of A.C. is 50 Hz. Then how many times it is changing its direction in 1 second?

Ans- 100 Times.

Q.3 What is the pattern of the magnetic field lines around a straight conductor carrying   current?
Ans. Concentric circles

Q.4 If  the current is flowing in the direction of advancemet of screw, then what is the direction of magnetic field lines?   
Ans.In the direction of rotation of screw.

Q.5 How can you say that the magnetic field is uniform inside the solenoid.

Ans. Because field lines are parallel inside the solenoid.

Q.6 Which property of a proton will change while it moves freely in a magnetic field? 

Ans. Momentum or Velocity.

Q.7 According to Flemings right hand rule, which part of right hand indicate the movement of conductor?

Ans. Thumb

Q.8 If the no. of turns of a circular current carrying coil are doubled, then how will the magnetic field produced by it changes?

Ans. Doubled 

Q.9 In which position the force on conductor  is maximum when it is placed in uniform magnetic field?

Ans. When conductor is Perpendicular to field                                                                       
(Two Marks Questions)

Q.1 A student draws three magnetic field lines 1,2 and 3 of a bar magnet with the help of a compass needle as shown in figure                                      

 
[image: image7]
(a)Is this configuration possible?

 (b)If not what is  wrong in figure and why? 

Ans. (a)No

        (b) (i) Two field lines cannot intersect (ii) direction of field                                                            

           lines ‘3’ is wrong.

Q-2 Suppose you are sitting in a room facing one of the wall. An electron beam moving horizontally from your back goes towards the wall in front you and is deflected to your left, what is the direction of magnetic field  in the room?

Ans. Vertically upward.

Q-3 A current through a horizontal power line flows in north to south direction.What is the direction of magnetic  field (i)at a point directly below it and (ii)at a point directly above it?

Ans. (i) West to East (ii) East to West

Q-4 Electric appliances like electric –press, toaster, fans etc are connected to electric mains through three-pin plug. Why ?

Ans. Electric appliances are connected to three pin plug because heavy appliances require earth wire,so that in case of leakage of any current it goes to earth and user will not get shock.
(Three Marks Questions)

Q-1 Consider a circular wire lying in the plane of the table and the direction of current in it is anticlock wise.(i) Draw the magnetic field lines produced  around it.
(ii) Why does magnetic field at the center of current carrying circular loop appear straight? Explain with diagram.
Ans. (i)


[image: image8]
(ii) Because of large curvature of magnetic field lines at centre.

Q-2If we place a compass needle near straight conductor carrying current

(a)What happens to the deflection of the compass needle if the direction of current  is reversed .

(b)What change  will you notice in the compass needle if it is  moved away from conductor but the current through the conductor remains the same?

Ans. (a) Direction of deflection will reverse

        (b) Deflection will decrease
Q-3 A magnet is moving towards a coil  as shown in figure      


[image: image9]
(1)Which phenomenon is shown in figure.

(2) Which physical quantity is set up in the coil when there is a relative motion between magnet and coil?

 (3) What may be the cause of production of that physical quantity?

Ans. (1) Electromagnetic induction

        (2)Induced current

         (3)Change in magnetic lines of forces through coil

Q-4 Suppose your science teacher asks you to demonstrate the phenomena

        Of EMI with following materials:

  (a)Two different coils 1and 2 of copper wire having large no. of turns

50 and 100   respectively.

        (b)A non conducting  cylinder.

        (c)A battery  

        (d) A plug key

         (e) A galvanometer 

   (i) Draw a labeled diagram of your demonstration setup.

   (ii)How will you prove the phenomena  of  EMI.

   Ans. (i) 
[image: image10]
(ii)When key is closed, there is deflection in galvanometer

Chapter - 14

 Sources of Energy

(1 Mark Questions)
Q.1 In the given flow chart  of energy conversion during hydroelectric power generation,fill  in the blanks with appropriate answer


[image: image11]
Ans  - Dynamo.

Q.2 Consider two solar cooker, one covered with a plane glass plate and other kept open. Which of the two cooker would  be more efficient and why?

Ans  - Solar cooker with covered glass slab, as it will show green house effect.

Q.3 Give one reason how increasing depandance on nuclear power generation is a threat for future generation?

Ans  - Radiation emitted during leakage can change the genetic arrangement or disposal to nuclear waste.

(2 Marks Questions)

Q.1 Give two ways in which animal dung can be used as fuel. Which way is better and why?

Ans  - As dung cake and as Biogas..  Biogas is better because it spreads less pollution  and has more calorific value.  

Q.2 The wind velocity  at three places  A,B and C are 5Km/hr,15Km/hr,10Km/hr respectively. Which is the most suitable place for installing wind mill & why?

Ans  - B, Maximum velocity required is 15km/h. At lower speed it will not work.

       At very high speed  it may break the blades.

Q.3 What are two advantages of charcoal over wood as fuel?

Ans  -High calorific value & pollution free  

Q.4 How difference in temperature helps to harness energy from ocean?

Ans  - The difference in temperature helps to obtain energy in ocean- thermal – energy conservation plants, which operate for temperature difference of 20о C or more. The warm surface water is used to boil a volatile liquid . The vapours of the liquid are used to run the turbine of generator , the cold water from the depth of the ocean is pumped up and condense vapour again to liquid.       
Q.5 Mention any two reasons, why wood is not preferred as fuel.

Ans -(i) Burning wood causes  pollution

        -(ii)Excess  use of  wood would cause deforestation. 
(3 Marks Questions)

Q.1 Write three reasons why construction of Tehri Dam on river  Ganga and Sardar Sarovar project on  river Narmada is opposed by local people and environmentalist?

Ans  - (i) Rehabilitation problems, loss of agricultural land.

        (ii)Disturbance of ecological balance.

               (iii) Forming of green house gases due to decomposition of plant in water. 

Q.2 Write three environmental consequences of the various source of energy we used?

Ans  - Green house effect, improper use of natural resources, pollution.

Chapter - 15

Our Environment
Q. 1 Using Kulhads as disposable cups to serve tea in trains, proved to be a bad idea. Why?









            1 Mark

Ans. Making Kulhads on large scales leads to the loss of top soil.

Q. 2 Why is plastic not degraded by bacteria? 




  1 Mark

Ans. Plastic is not degraded by bacteria because they do not have enzymes to degrade plastic.

Q. 3 DDT has entered food chain. Which food habit is safer- vegetarian or non- 
vegetarian?









  2 Marks
Ans. Vegetarian habit is safer. Being closer to producers, less DDT will accumulate in our body. 


Bio magnification leads to higher level of DDT in higher trophic levels.

Q. 4 Aquarium requires regular cleaning whereas lakes normally do not. Why?












  2 Marks

Ans. Normally a lake has more diverse forms of life and hence a larger number of food chains. This leads to natural cleaning. Thus, the ecosystem is more stable.


The aquarium has a very limited number of food chains and unable to sustain itself.


But, sometimes there is excessive growth of algae in lake. Then it also needs to be cleaned.

Q. 5 How will accumulation of bio degradable waste effect our environment?  
  2 Marks

Ans. Accumulation of bio degradable waste will:

(a) not let minerals return to mineral pool.

(b) become site of pest breeding.

Q. 6 Look at the following figures. Choose the correct one and give reason for your choice.









            3 Marks
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Ans.  Fig. “A” is correct.

· In an ecosystem, the number of individuals at producer level is maximum. This number reduces at each successive level. Therefore, the shape is a pyramid with broader base and tapering apex.

· On an average 10% of the food changes into body mass and is available for the next level of consumers.

Q. 7 It is the responsibility of the government to arrange for the management and disposal of waste. As an individual you have no role to play. Do you 
agree? Support your answers with two reasons.




    3 Marks

Ans. I do not agree. As an individual, I also have the responsibility and can 
contribute in the following ways:-

(i) Cut down waste generation.

(ii) Make compost pit for bio degradable waste.

(iii) Recycle non biodegradable waste.

Chapter - 16

Management of Natural Resources
Q. 1 “White tiger has become an endangered species” why?
                        1 Mark

Ans. White tiger has become an endangered species because of:

a) Loss of habitat due to deforestation.

b) Poaching by man 

c) or any other correct reason.


Due to this their number has decreased to such an extent that they are facing a threat to their existence.

Q. 2 Why should we preserve bio diversity?



              1 Mark

Ans. If the bio- diversity is not preserved, the ecological stability of an area 
will be lost and ecological crisis will be caused.

Q. 3 What are “bio diversity hot spots”? Why this name has been given?    2 Marks

Ans. Forests are called bio diversity hot spots because of the presence of a 
large 
number of species of plants and animals.

Q. 4 “Forests can not be conserved only by legislation; local human intervention is also required.” Justify your answer with two examples.

   2 Marks

Ans. The two examples when human intervention saved the forest are:

1. The protection of Khajuri trees- In 1731 Amrita Devi Bishnoi led a group of 363 persons who sacrificed their lives for the protection of Khajuri trees in Khejrati village (Rajasthan).

2. Hug the trees movement(Chipko Andolan)- In a Reni village in Gharwal when the contractor’s workers came into the forest to cut down the trees against the will of local people, the women of the village reached the forest quickly and clasped the trunks with their arms, and the forest trees were thus saved.

Q. 5 Which one is better to save an environment “Reuse” or “Recycling”? Give 
reasons to support your answer.



                        2 Marks

Ans. “Reuse” of material is better than “Recycling” in saving our 
environment because:

1. Reuse of material does not use any energy, whereas recycling uses some energy.

2. In reuse things are used again and again instead of throwing away.

Q. 6 Why rain harvested water stored underground has many advantages? Give 
any three advantages.




                                  3 Marks

Ans.  1. The water stored underground does not evaporate.


         2. The water stored underground percolates, which enriches the water table and recharges ground water sources.
         3. The water stored underground is protected from contamination by human and              animal wastes, and also does not promote breeding of pests.

Q. 7 What can you do as an individual to conserve water?

            3 Marks

Ans. To conserve water I can adopt some changes in my habits while 
doing my routine work:-

1. Using bucket for bathing instead of taking shower bath.

2. Cutting down the flow of water through tap while brushing teeth or washing face, hands, etc.

3. Waste water after washing vegetables, fruits etc. will be used in watering plants.
(Any other correct reason)
      R
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